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PART - III
Clummeflwed /| ECONOMICS

(WP wHmID Y midle eufl / Tamil & English Version)

sme 2era] : 3.00 waenfl CHr | [ Qorgs wutluarser : 90
Time Allowed : 3.00 Hours | [ Maximum Marks : 90

SNeYenrs6T : (1)  mandgl elamésern Flwuns LHoird o densr e gamen FflumTsgid
QameTera. F&HLILSN 0D Gennulil@Liber, Siemms sera et LLmeTflLLb
2 | aquings Cgiflellsse]n.

(2) Beod ode@g S@LL @bulamear WLUHCL T USDHELD

24 5CaTg HeugsnN@WD UwearLhds GCeuamr(hbn. LIRS euamrelsnd
Quenfled LiweTU(HSSe .

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw

diagrams.

U@ - I/ PART -1
@Oy : (i) esg damss@rsEh el wellsseab. 20x1=20
(ii) Gar@ssuul(Herer wrHm elemLsafler Wseyb ghyemLw eflenLenuis
CambOs(hss15 GOHUILHLer eleLulearyd Caigg er(psawb.
Note : (i) Answer all the questions.

(ii) Choose the most appropriate answer from the given four alternatives and

write the option code and the corresponding answer.
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1.

Sal&aMmSH Ol (BHg CUTEHESHMmSS UMD (peop :

(=1) Quedrery idladiuied (<) UESETLS| WD
() OpPlyery <iHledwe () Cgr@ssmie) e
The process of reasoning from Particular to General is :

(a) Positive economics (b) Deductive method
(c) Normative economics (d) Inductive method

“eplureflen CQLLgmil” eremm PSS BEHTLD

(<=1) Cgavid (<) ClFcmene (@) Smuusgnm () CamubLggT
city is called as “Detroit of Asia”.

(a) Salem (b) Chennai (¢)¢ Thirupathur® #(d) Coimbatore

eleusmu 2 HUSSH DBISTRS G 6TerLig)

(=) ACeorgenens @ (<)) &L LLTEULDTET (LD
(&) (<=1) wpoid (<) () ergiajiblebe e
Agricultural Produce Market Committee (APMC) is a

(a) Advisory body (b) | Statutory body

(c) Both (a) and (b) (d)  Nomne of the above

2 e PLUILITET(HESTET Clel@Lod) :
(1) @evmuid (<=4) eumiyLD (@) ey (FF)  anedl
The reward for labouris :

(a) profit (b) rent (c) interest (d) wage

Cummetler ellemes@b <elldhEn QL Cu o 6rer CgmLrm :
(1) Lhguid (<=3) ergliioam (@) =dlasflagn () Cprwenp

The relationship between the price of a commodity and the supply of a commodity
is :

(a) Zero (b) Negative (c) Increases (d) Positive
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6. 1951 b ya(h Wwés6T Ggmeansls (LHEs eigb 6Te DM LPSSLILI (NS DS
(<) BSTLWITISE GU(HL LD
(<) dpi Gerey e
(@) Qumd Gfelenear aupLLD
(FF) w&s6T QgTens Gleulg il aBLLD
The population growth rate of the year 1951 is known as
(a) year of urbanisation
(b) year of small divide
(c) year of Great Divide
(

d) year of Population Explosion

7. sGlea . 250 Yseayid OHMD 2 T allene m. 200 Ysald 2 6Terg) ereflad
BI&TCaUNT eTégsdlem S :
(=) 200 (<=4) 375 (@) 50 (rr) 175
Given potential price is Rs. 250 and the actual price is Rs. 200. Find the Consumer

Surplus.
(a) 200 (b) 375 (c) S0 (d) 175
8. eTarrn) GlM&s Gummetlucy SiMlesT 1907 -6 QLT Srhi@ @erus
Carlur’enl r(HSHMTSSTIT.
(1) J.B. e (<) dpreis H. enpL
(8) gmer Gy (ir)- F.B. anrGev
Risk bearing theory of profit was propounded by the American economist
in 1907.
(a) J.B. Clark (b) = Frank H. Knight
(c) John Rae (d) F.B. Hawley

9. “@ndlumeiler Lsamwl Ll fuler gpens” eTammenpdssIiL(HUel :

(1) efNevGouaveuanwim (=) M.S. seumbprgeo
(@) N.R. afleveupbrser (FF) &mhl
“The Father of Green Revolution in India” was
(a) Visweswaraiah (b) M.S. Swaminathan
(c) N.R. Viswanathan (d) Gandhi
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10. fimeuengdlen Foblened eremmLig) :
(1) MC<MR (<},) MC=MR (@) MR=Price (rF) MC>MR
Equilibrium condition of a firm is :

(a) MC<MR (b) MC=MR (c) MR=Price (d) MC>MR

11. @f S durmener gmhHgors alHUFTL Hal &@&HWb 6uhHeu Tl

QU(THEU MU (& LD.

(@) Gudfon (<) @orud (@) Gurgs () “sprs

Revenue received from the sale of additional unit is termed as revenue.
(a) marginal (b) profit (c) total (d) average

12. Qumrmaflweler sanfllssams (PSeTPSONS LieL(Hgsluial

(1) L 1b evilG (=) & aflevadlwid G i
(@) @relm YagT () elCwmeunafl Cgaim
The first person who used Mathematics in Economics is :

(a) Adam Smith (b) " Sir William Petty
(c) Irving Fisher (d) (Giovanni Ceva

13. 2 el sLer el amwl Uweal(hsd alleusrilser erbg eubdlude sLem Gum
Pl ?
(=) rrpdlur ElrmoliL|m | elmislsert
(=) Aurgssienn ISl S6rte
(@) sl (e cumidlaafile
(F) Qe marsglb

The farmers have access to credit under Kisan Credit Card Scheme through
which bank ?

(a) Regional Rural Banks
(b) Public Sector Banks
(c) Co-operative Banks

(d) All the above
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14. @@ Lsss alhLearumeTT e Ldssb T 10 6igb 40 Usssnigsamer alpimmi crafle
SeI(HESG FanL GG Qrss aumeUT :
(<=1) T 300 (<) 100 (@) T 400 (/) T 200

A book seller sold 40 books with the price of ¥ 10 each. The total revenue of the
seller is

(a) 300 (b) ¥ 100 (c) T 400 (d) T 200

15. “prseflen (Fwalld WHMD STIMTHRISMETS &DS5S @ NFTrenanr eremm Hedler

< Fflwr
(1) @ooware G rmderen (<)) <=4,600soL4TL OmTage
(@) umé . ampGelcvae (FF) <=L b evLdls

Author of “An Inquiry into the Nature and Causes of Wealth of Nations”.
(a) Lionel Robbins (b) Alfred Marshall

(c) Paul A. Samuelson (d) "Adam Smith

16. “@npdlu eleusmui srarmaiuwms UpHs), samaiuns almphg, semmefluing QmHs),
sLanaC shgdHsE el B& Cawdlprer.” - @&bermnm eré s mlwelr wrr ?

(1) Swrdlur Glger (<) L 1b cvillG
(@) &M TEOEHD LTTedlh () s

“An Indian farmer is born in debt, lives in debt, dies in debt and bequeaths debt”-
who said this ?

(a) Amartya Sen (b) Adam Smith

(c) Sir Malcolm Darling (d) Gandhi
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17. seolyl QuUrmeTTSIrD 6Terg)

(=) QurgISgHIeED WOMID eUEISIEET

(=) saflurt gleom wHmD eunidlser

(@) Qurgisgiemmaer WL (Hb

() Gurg womib seaflurm gapsedr Carbg CFwoubeoug
Mixed economy means :
(a) Public sectors and banks
(b) Private sectors and banks

(c) Public sector only

(d) Co-existence of Public and Private Sectors

18. &ml-L&een 2 HUSH FMTL| THMEn Diigliienl uirss Clsmar g ?
(=) @b CFe lfls elanere| el
(=) wrom 6ildlg emey aflenerey alld
(@) eueripg Qa6 aldlg elenera) il
(rF) CpsTanibd eergg)n
Cobb-Douglas Production Function is based on :
(a) Decreasing returns to scale
(b) Constant returns to scale

(c) Increasing returns to scale

(d) All of the above

19. @reawr(h wpodlad GCeumul L gerennganer QT myu(hiss @olliug :
(=) @rlen HeTenLo (<=),) BILUWD
(@) gwdlerenio (FF) &miBS mLL
What is the term used to denote the co-existence of two different features in an

economy ?
(a) Dualism (b) Technology
(c) Inequality (d) Dependency
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20. “gOPBITL g6 Henpe| eumuille” eTemm emp&sLLI(HeIg)

(1) g15815G g (<) Camwbysgnt (@) Heusé () CGseld
is known as “Gateway of Tamil Nadu”.

(a) Thoothukudi (b) Coimbatore (c) Sivakasi (d) Salem

U@&S - II / PART - II

GO : aTemeuCGuenid 61 alammssEns@ el wellssebn. efearm eramr 30 -&d
sLLmuwrs alleLweflésa|b. 7x2=14

Note : Answer any seven questions. Q. No. 30 is Compulsory.
21. dloouen QUMHETSHET cTen6U ? <D{eneu-6J6T <eUeUTn). SAeP&SLILINE ctmen ?

What are Giffen Goods ? Why it is called like that ?

22. oafliy Car® CoaCrrad Cawealset STreauTd eremer ?

What are the reasons for upward sloping supply curve ?

23. pRPEL (e seT eTemmmed 6remmen ?

What is meant by Sunk cost ?

24. Spsar Hineuarsder ComauCamh cuamys.

(=1) Hlevmay Gumiig (<) pomiflenio

Draw Demand Curve of a firm for the following :

(a) Perfect Competition (b) Monopoly

25. erGardlu QummeTTsTrsdlem @QWIOLSET cTaneuGUIELD @) 6Tl aned: Fnmis.

State any two features of a developed economy.
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26. H3HSTD MmLeusnNE@ et @bdHlumeled sreariul L uoGaum euamswimear Hle
2 anLano (penmsafler Cuwmsamer eTr(Lpgis.

Name the different types of land tenure systems that existed in India before
Independence.

27. wFIHW TEHE MU &G e CLHOSTETERD BLellgSmssailer o g nsmers
I[N 5.

State the various components of Central Government schemes under post-harvest

measures.

28. FOIPHTL g6 a6 IhleneuimiseT wiTenel ?

What are the nuclear power plants in Tamil Nadu ?

29. MS Word -a7 (&Sl 2bFBISGET WTeneU ?

What are the main features of MS Word ?

30. Ggélu 2ams He enUIL LUDHMH 6T(LPSIS.
Write about National Rural Health Mission.

L& - III / PART - III
@MY : eTemeuCuwiand e1(p ellanTésens@ afla wallgsalb. alarm eram 40 -5
SL_L_Twions eden L ueN&Esa]|ib. 7x3=21
Note : Answer any seven questions. Q. No. 40 is Compulsory.
31. Qurmeflwemals upPlu LUDPTEGMD QossaTsans llarsEs. CLID g emer
LSHLSEH CFis.

Explain the scarcity definition of Economics and assess it.

32. Ggaeu eflfle] wHMID HMHEESmS CoumLi(hss)s.

Distinguish between extension and contraction of demand.

A

This PDF document was edited with Icecream PDF Editc

~ kindly send me\ brs to our email id - padasalai.net@gmail.com


https://icecreamapps.com/PDF-Editor/upgrade.html?v=3.18&t=9
https://www.whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m
https://www.padasalai.net/

33.

34.

35.

36.

37.

38.

39.

40.

www.Padasalai.Net

9

www.Trb Tnpsc.com

<jefliy Apdlpsslenw Hliamuis@n srreaflser wreanel ?

What are the factors governing elasticity of supply ?

aumiULE dgenel T(HSSHISHTL(HL6T eUMTLINISHSa|LD.

Define opportunity cost and provide an example.

Blmieuard wHmid Agmhnsramas@ @ el Gul 2 drer CoumumhseT wrenel ?

Differentiate between ‘firm and industry’.

vasGaamelssmear CHTSSBIGET Wramel ?

What are the motives of demand for money ?

Sy sTCeaurswm — Sm GOILLY euanys.

Write a short note on Village Sarvodhaya.

GST GTeTDIT6) 6TGIET ? DHE0 [HEITED LDSHENET GT(LHS)]S.

What is GST ? Write its advantages.

MUDRA eumidluflen Corésmisaer LiLiqwied(Hs.

List out the objectives of MUDRA Bank.

DMP perp @IS ellens@s.

Explain about DMP model.
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L@ - IV / PART - IV
SN : Semensg laTssErs@h el wall&seay. 7x5=35
Note : Answer all the questions.
41. (o) dummeflwelen gemenio WHMILD eTevenveNl elleuT&SHaLD.
JENTNINE:
(<=,) sWlpBTLiger Curgssenn CuTsEGaTsSs (Wwennulener 6lleTd@s.
(a) Elaborate the nature and scope of Economics.
OR
(b) Explain the Public Transport system in Tamil Nadu.

42. () 2aps QuUTmeTISTISSen LianTL|ge edl&gdlriomamenal - aloundlésa,ib.
S|6V6VG
(=) Coamau il wHMID Siger clldlefles@samar cllouflése|b.
(a) ‘The features of Rural Economy are peculiar’ - Discuss.
OR

(b) Explain the Law of Demand and its exceptions.

43. (1) g0 eare] 2 HUSSH CaTiger LETLSMET cuenTULSgIL 6 eldleuf&sea.
2|6V6V
(=) Apliy Qur@eTngry e e biseflen Cbrésn&EeameTLb, Li6wT L% 6T|Lb
Ner&@s.
(a) Explain the properties of iso=quants with the help-of a diagram.
OR

(b) Explain the objectives and characteristics of Special Economic Zones (SEZ).

44. (=) @B ghsTar(hs S msaflear Gewudurhsmer adleussab.
S|VEVG)
(=) uGaumiul_L elleney Hlanawsefleh AR woHmib MR Car(h&@nsdlenL Guiwimer
Csm_renu aflens@s.
(a) Describe the performance of Five Year Plans in India.
OR

(b) Explain the relationship between AR and MR curves under various price
conditions.
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45. (=) Hleomeya Gumiiguller @uicseaner aflemd@s.
360605
(=) sl QumrmeTTsTrs SMHESSHISmeT ellersEs.
(a) Explain the features of Perfect Competition.
OR

(b) Write a detailed note on the Gandhian economic ideas.

46. () Sandlan el g&Camium’ el efleu&aseyLd.
S|6V6VG)
(<) Qummetlwed gewpuiledr sseued CsTPOEIL LIBISET ereucurm LwerU(BiSsUIL(H -
Slestmenr ?
(a) Explain the Keynesian Theory of Interest.
OR

(b) What are the ideas of Information and Communication Technology used in
Economics ?

47. (=) dlgmor elldlenwits Lwetuhgd Fwerdn(h&efler x LHMHID y I UILSMmETS STeams.
x+3y=1 wpmib 3x—2y=14
S|6V6V)

(=) Curere] Asmplhareamoser @hss allflairs edersss.

(a) Find the value of x and y in-the equations by using Cramer’s rule
x+3y=1 and 3x—2y=14.

OR
(b) Briefly explain the Large Scale Industries.

-00o0-
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